dp

Fn 5 £ B

Y EERRINIFTFMHEE T REZF

(5= 1 = D






i
W
I
N
a1
ao

SRS AR AR S ER AR SFIE TR (B 1 5)

TS EE B HoORIEEE ERESFOMETRE (F15) 13, RICEDD EZAIZLD,

K

(%N PR OHHIE)

F1% BEEORARETROBEIORAREZNENT 3, 00 0 TFTHZBEML, MAME TROBMEEZ RARHEZTLEN
1, 694, 127FHET5,

2 EARHETEOMEOKEDR Yy I ONEFEX Sy Z & O N EEOBARE TREOSFIL, [HB1E BARHETHE

MIE] 12X,

SeHE2H26H #H#H
i [ 7N by



FHI1R RARHTRAE
w A

K H B & # i IE % Ft
L % Wl & e 2 = OR BROR} 1,362,850 T 73,000 TH 1,435,850 T
1. % W & & R BB} 1, 362, 850 73, 000 1, 435, 850
oE X o o o e 3 O HE Ol 2 B FE 258, 277 258, 277
ik A = 7t 1,621, 127 73, 000 1,694, 127




K S| B E # i IE 7t
2. I I R I A 4 1,583,856 T 73,000 T 1, 656, 856 T
1. 8w B A 0 A T 4 1, 583, 856 73, 000 1, 656, 856
MioOIE & h o o o = & OHE I R D B 37,271 37, 271
% t = #t 1,621, 127 73, 000 1,694, 127







THRICE T B E

(P ATk HH A7 IE. 7 55 S ZEU 31 B i 25






AN A 1 S R = WLV S

1. ¥ 15
% A (Bpr )
K B & # HOE &t
L% W & W & E K fr B ¥ 1, 362, 850 73, 000 1, 435, 850
iIE & o o oo oK T R D HE 258, 277 258, 277
w AN A& 1,621, 127 73, 000 1,694, 127




_10_

st H) Gifr )
iR B o RN B
K B & B | M o= % it 5 E W T T
T3 H 4 TR < OAth
2. % H S IR SO AN 4 1, 583, 856 73, 000 1, 656, 856 73, 000
MIE SN2 o I3k 55 37,271 37,271
% H = &t 1,621,127 73, 000 1,694, 127 73, 000




2. W A
1.

(&) % 11 i thn 7 R R (FH) 1. RH & R OBkt (BAL © FH)
g MoE M | W OE 2 i i
X 4 &
2. B R 622, 822 73, 000 695,822 | 1. BIAERESy 71,300 |BUESESY 71, 300
B 2. VAR Sy 1,700 |y 1, 700
7 1, 362, 850 73, 000 1, 435, 850

_11_




_12_

3. %

GR) 2. R0 i I L Jelor B s 4 () 1. R PR IR0 AR T 4 (HEAE - M)

wOE B o MR AR i
H BE & #|# E &t ¥owE M R } B e
— AR X 4 & #
ERf 24| i Z Dt

1. “HEEE 1, 583, 856 73,000| 1,656,856 73,000(18. &4, 73,000 | B ARBRE Y 71, 300

[ 4 < 3 B B O 22 f+F B IAR B (TR ) 1, 700

o>
>
=
S

4

G 1, 5683, 856 73,000] 1,656,856 73, 000







